L i asle V)

el (e
o)
Ciabl

iy &1 g dmald
a+B70 Cuns s simall (o e (il (B, B) 5 (A,a) e
9 (A, @) o Fiall (ki) e ja i G ALY .0GA + SGB =0 &uay ¢ simall (1o G a2 g Alai 23 5
(8.58)

Ol IR 3 0 Clyuald
s dgaall

kOR" 5 (B.B) s (A,0) oiziadl (bl o G cils 1)

(B.kB) 3 (A.ka) ofijiad okl ga e dls G @ ol
s 8 el Ll

D saal) o M AL JS A (B, B) 9 (A,0) Csliiall bl ma e G cils 1)

aMA +BMB =(a+p)MG
Uil Al

108 (B,B) 9 (A,a) osijial (bl mase G cils 1)

9 Bx s ac=_P iB
a+p a+pf

BG =

45 yia Jadi EDE ma ya

iy &1 g dmald
A+ B+y#0 Cuny g siual) s A b3 (C,)) 5 (B.B) 9 (A,a) osd
.aGA + fGB + yGC =0 : tuas s simall 50 G 5aa g Aaki 2a g5
(C.y) 3 (B.B) 5 (A,0) L Ll g0 ans G 4al

(5 in (RS e 0 sl
sagaall
kOR™ 5 (C,y) 3 (B.B) s (A,a) &5 Lil ga e G cils 13}
(C.ky) s (B.kB) s (A ka) Ly bid gamdlls G @ ol
s 8 paal) Ll
DSl Ga M Ak g4l (CLy) o (B.B) s (A,a) Ll kil ga e G cils )
aMA +BMB +yMC =(a+B+y)MG

172 —-2/2017



L i asle V)
el e

0 (C,p) s (B.B) 3 (A,a) bR il ga e G eils 1Y)
iG=—2P ag+—Y ic
a+p+y a+p+y
s gl dmaat o
(C.y) s (B.B) 3 (A,a)%sd bl ga e G s 1y
(B,B) s (A.a) car H 3
(C.y) s (H.,a+p) cxiizia) kil mase G old

Cpiladl e ja Gllas)

(O,f,f) plra ) qguia 5 gia B
G(x5.v5) 3 B(x,.y,) SA(x,,y,) <y (B,B) s (A,a)brd bl gajm G «is 13

. _ax, +pBx,
¢ a+p .
o
y _ay, +By,
G 0’+,3

gt & e QL...\:.':\AA!

(O,f,f) plra ) G gsia (5 giuna (B
Clxc.ye) 9B(x5y5) 9A(x,,y,) @MWy (C.p) 9 (B.B) 9 (A,0) 45 bl ga e G s 1
P _ax, +Bx, tyx,
° a+pty
y _ay, tBystyye
‘ a+pB+y

Dok G(xa’yc)J

L8 ) e

iy &1 g dmald

A+B+y+I£0 1y g siwall 0o L kit @i (D,J) 3 (C.y) s (B.B) s (A.a) o
.QGA + BGB + yGC +3IGD =0 : ¢uay s siaall a0 G S3a g Akl 23 53

-

Lals
(D.,d) s (C.y) s (B.B) s (A.q) gasr oS

(D.0) s(C.y) can K 5 (B.B) s (A.0) mar H )81
(K.y+93) s(H.a+pB) caxG o

2/2 —-2/2017





